SHURJOINT®

)85 Z05 |45
- AR -

%@ A A5 Z05 BIHE I AL & HA R 0 4 %R

ShPE o BRSNS R “‘5&'?&*“5—%’— ;
FLE Y S PRI RS o F NP R R m? :

i F@ % #H‘?‘“i?ﬁ'é ~EB B {»ﬁi:};_ﬂl’—%ﬁ

#0442 f 2R EE ANSI B311B3LY 2

NFPA 13 L*R;,E o WUEATAHE P - %5 *z?j#“*ﬁjﬁa
G AR S

47 A AR Z05 BIERT R EAFIE A BRE BHT R
1; uC” .j-tllé\, GapSeal ﬂ]%[g] °

@

LISTED
@_} Z05 fsf LAy 4 FPE o £ 43 rkdE TER AR
Mg LA SRS R L, R
2% o
A EEEmp G R AT

HB-42 &2 AR A A A T 4

wwwshurjom com &iE 4 A A Eirik koo

B ' —C

YEAR
LIMITED
WARRANTY
P A e R
FERAM AR
www.shurjoint.com

A5 Z05
#
Boaa 2.+ hene o

A eR 4 FE s s
-+t B s (CWP)* (cwp) =4t A B c ? i
B B PSI Lbs #Fed #Fed E v o # v EFE
PAS - PAS -] Bar kN PAS -] A~ AT~ AT -] o 2 A5
1Y 1.660 500 1080 0~0.05 2.60 4.00 181 ) % x 2% 141
32 42.2 35 4.89 0~12 66 102 46 M10 x 55 0.64
1% 1.900 500 1410 0~0.05 2.83 4.29 181 ) %X 2% 1.46
40 48.3 35 6.41 0~12 72 109 46 M10 x 55 0.66
2 2.375 500 2210 0~0.07 3.35 4.61 1.85 ) % X 2% 174
50 60.3 35 9.99 0~17 85 117 47 M10 x 70 0.79
2% 2.875 500 3240 0~0.07 3.86 5.24 1.85 ) % X 2% 2.05
65 73.0 35 14.64 0~17 98 133 47 M10 x 70 0.93
6.1 mm 3.000 500 3530 0~0.07 3.94 5.35 1.85 2 % X 2% 2.16
76.1 35 15.91 0~17 100 136 47 M10 x 70 0.98
3 3.500 500 4800 0~0.07 4.45 5.91 1.88 ) % X 2% 2.60
80 88.9 35 21.71 0~17 113 150 48 M10 x 70 1.20
108.0 mm 4.250 500 7080 0~0.16 5.59 6.93 2.13 ) % X 2% 3.62
108.0 35 32.05 0~4.1 142 176 54 M10 x 70 1.64
4 4.500 500 7940 0-~0.16 5.75 7.20 2.13 ) % x 2% 412
100 114.3 35 35.89 0~4.1 146 183 54 M10 x 70 1.87
5.250 350 7570 0~0.16 6.69 8.82 213 Y%2x 3 5.14
133.0mm 133.0 24 33.33 0~4.1 170 224 54 2 M12 x 75 2.33
5.500 350 8310 0~0.16 6.81 8.98 2.09 Y%x3 5.67
139.7 mm 139.7 24 36.77 0~4.1 173 228 53 2 M12 x 75 2.57
5 5.563 350 8500 0-0.16 6.89 9.06 2.13 ) %x3 5.69
125 141.3 24 37.62 0~41 175 230 54 M12 x 75 2.58
159.0 mm 6.250 350 10730 0-0.16 7.80 9.84 2.09 ) %x3 6.06
) 159.0 24 47.63 0~41 198 250 53 M12 x 75 2.75

G-03-1/3 Rev.M 20160307


http://www.shurjoint.com/
http://www.shurjoint.com/

SHURJOINT®

4|8 Z05 k|42 57

- ﬁﬂ 1,.1 ,ﬁj . . bege o

4 Yy Wt sfh i
< Ry (CWP)* (cwp) 4t A B c @ i
el el PS| Lbs e 2 #e #e N #ed EF2
Mg Mg Bar kN Mg 2 2 A5 &2 A A5
6.500 350 11600 0~0.16 7.87 9.92 2.09 X3 6.72
165.1mm 165.1 24 51.35 0-4.1 200 252 53 2 M12x75 3.05
6 6.625 350 12050 0~0.16 8.00 10.00 2.09 2 X3 6.77
150 168.3 24 53.36 0~4.1 203 254 53 M12x75 3.07
8 8.625 350 20430 0~0.19 10.40 12.68 2.52 2 %x55/16 13.38
200 219.1 24 90.44 0-4.8 264 322 64 M16 x135 6.07
200JIS 8.516 350 19920 0~0.19 10.24 13.35 2.50 2 Yax4Ya 15.43
216.3 24 88.14 0-48 260 339 64 M20 x120 7.00

*1iERA iﬁﬁ;ﬁ;imf%zgm‘%g o

THRE AT A RS2 AR A RE U F - BT RERERE A E R BE P F o RN P ORET R S
L B AP ek KD hE LT AT L M OREF o S @ R0 L BRER % < 43t %/DN20 — 3%2"/DN90 & 50%; =
4”/DN100 2 = +3% = <F & 25% o

1t B

TABA Y A A A A5 Z05 A MRS B F oh SR F ek d 1 (RS (CWP 2k (ERA ) o %A ATk 545
BT LS B B TR BEIER Y > F15 R A T RO REL > 3§ BBt i

i
i P R P P
w4 XS STD STD Sch.10 | Sch.7 wed) o Sch. 80S Sch. 40S Sch. 40S | Sch. 10S Sch. 58
PSI/ Bar|PSI/ Bar| PSI/Bar | PSI/ Bar| PSI/ Bar PSI/ Bar PSI/ Bar PSI/Bar | PSI/Bar PSI/ Bar

1% 600 600 500 400 250 1Y 600 600 450 300 250
32 42 42 35 28 17 32 42 42 31 20 17
1% 600 600 500 400 250 1Y% 600 600 450 300 250
40 42 42 35 28 17 40 42 42 31 20 17
2 600 600 500 400 250 2 600 600 450 300 250
50 42 42 35 28 17 50 42 42 31 20 17
2% 600 600 500 400 250 2% 600 600 450 300 250
65 42 42 35 28 17 65 42 42 31 20 17
3 600 600 500 400 250 3 600 600 450 300 250
80 42 42 35 28 17 80 42 42 31 20 17
4 600 600 500 400 200 4 600 600 450 300 200
100 42 42 35 28 14 100 42 42 31 20 14
5 450 450 350 300 175 5 450 450 300 200 NR
125 31 31 24 20 12 125 31 31 20 14

6 450 450 350 300 175 6 450 450 300 125 NR
150 31 31 24 20 12 150 31 31 20 9

8 450 450 350 300 150 8 450 450 300 100 NR
200 31 31 24 20 10 200 31 31 20 7

G-03-2/3 Rev.M 20160307



]
SHURJOINT®

A5 205 HEFRK

o+ ,]{;, :
7k %4548 7 & ASTMAS36, Gr.65-45-12 & ASTMA395,
Gr. 65-45-15 » & M4nd 5 & 65,000 psi (448 MPa) -

ST TS
w4 &g d 2 RAL3000
O #oxeks o
O %% % (RAL3000 =4 8w ) -

"‘?/3715

HBRE
TR % "E"EPDM (& /5 @ - i5%) i * YRR
* AL +230°F (+110°C) st # -k F B o 7R if * 3%
1100C T emd gk > FF R A7 F S R 4
SR RS EOR S R E R F M2 Hu LR
P H AT S TP S AW E A e 1 F
: -299F(-34°C) 1 +230°F (+110°C)* »

LR B RS ET LY B
EPDM & E7 Z®* *E§ § B

O % ‘E-pw EPDM(¢ 5 © = i %) 19
NSF/ANSI 61 & NSF/ANSI 372 3232 - i * *if
+860F (+30°C) hi ¥ 4 -k § #2.2 i /& +180°F
(+820C) sk ® Hrk B -

i

° _&1_1/’?/_{?4(CWP KRA) TR
ES T RRPES /ﬁ/imﬁ—g'w\% i A

10 #FFFHEF» W AF AL a0 3 5
7 ARG A SR AR R

* Fh A FEL e A1 xr@J ( Lok ) e
o rAgETenRd BRI Y iR

®  REHFTHERF - IRV LA

® g’fi ﬁm#ﬁ‘{p’é‘f% ?&x % Leniz m R 'g_"*i‘é“,’: , {g.
°

°

i Fr o

G-03-3/3 Rev.M 20160307

SRR ERA 0 Sd B e E R e oo ;—;}%f; @A 4o ok ATIR
B# @"ml’/z»—(AWWAC(SOSSZS)
LRI PR o
kS B& 1 E/ﬂ?;adim—g Bk s
1

O %% “Lube-E" = i@ chiy 7k -

O %% “T" Nitrile (4 25 : - H) §* % 2% - %
%M‘E%M’¥“wb# FiAp 2 ¥ +150°F
(+66°C) ko

: -20°F 1 +180°F (-29°C 1 +82°C) -

2 p gk E KGR R ALE +150 OF (+66°C) &

£40% 7 WE R A2 +140°F (+60°C) -

PN
a1 ie8

O H

r}

> 1538 . % % “O" - Fluoroelastomer -
% % “L"-Silicone -

L.%—PF lr‘;fS M oA e

s BRI Z AR C
‘ﬁ&ﬂmﬁﬁ 4B & ASTM A449-83a (&
A183 Gr. 2) » £ i Ftk 5 & 110,000 psi (758 MPa) - = &
£ TasASL 0 54 ASTM AS63 -

A0 R4 AR - LR 48 ASTMFL476 o AWWA C606 4 2 ehipl 3k b+ £ kB 4 (CWP) -
R Y L. TERL PINT R
CWP

wFR -

E S T



